
2 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

1 

BN9SD 
Benelli 752S 2019- 

 
Mounting Kit Left Side: Mounting Kit Right Side: 

          ID Description Cat.No Pcs 

 

ID Description Cat.No Pcs 

 1 Dural. roller l=30mm 11 1 

 

1 Dural. roller d=30mm 11 1 

 2 Bolt M10x180mm 978 1 

 

2 Bolt M10x50mm 849 1 

 3 Dural. roller l=40,5mm 1327 1 

 

3 Dural. bolt l=20mm 447 1 

 4 Nut M10 – insuriance 810 1 

 

4 Dural.roller l=39mm 1328 1 

 5 Adapter SLD 537 1  5 Adapter SLD 537 1  

6 Bolt M8x25mm 815 2  6 Bolt M8x25mm 815 2  

7 Washer M8 – insuriance 800 2  7 Washer M8 – insuriance 800 2  

         Mounting kit : 

 

 

 

1 

1 

2 2 

3 

3 

4 

4 

5 5 

6 6 

7 7 



2 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

2 

Mounting Instructions – Right Side: 

 
1. Remove the original plastic cover in the motorcycle frame.  

2. Mount the dural. roller (ID. 4) in the frame.  

3. Install the dural. screw (ID.3) into the dural. roller.  

4. Now take the M10x50mm screw (ID.2), slide the SLD adapter (ID.5) and the dural. roller 

(ID.1) onto the screw.  

5. Mount the entire assembly to the dural. screw on the motorcycle.  

6. Mount the SLD slider itself on the adapter with M8x25mm screws (ID.6) with M8 

washers (ID.7) 

 
Note: We recommend using medium strenght thread glue during assembly (blue). 

 

 

 
 

 
 

 
 

 



2 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

3 

 
 

 
 

 
 

 

 
 

 
 

 
 

 

 

 
 

 
 

 
 

 

 



2 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.cz 
  www.rdmoto.cz 

 

 

4 

Mounting Instructions – Left Side: 

 
    1. Remove the original plastic cover in the motorcycle frame  

    2. Insert the dural. roller (ID.3) into the frame  

    3. Now take the screw M10x180mm (ID.2), slide the SLD adapter (ID.5) and the dural. roller 

(ID.1) onto the screw.  

    4. Mount the assembly to the motorcycle frame, secure with an M10 nut (ID.4) from the back.  

    5. Mount the SLD slider itself on the adapter with M8x25mm screws (ID.6) with M8 washers 

(ID.7) 

 
Note: We recommend using medium strenght thread glue during assembly (blue). 

 
 

 


